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1. Solve the inequality 2z >3 —5(2 — z). [20]
AX>3-10+5%
7 > 3%

<Z s Y
X 3 ox {’)Cé (-—00)-—5

2. Answer T or F only for (a)-(h). In (a)-(d), a,b,c €R. [30]
(a) If ab>ac then b>ec. _E
(b) If a<b, c<d, then a—c<b—d. il
() If a<b, c<d, then a—c<b—d. E
(d) If a<b, c<d, thena/c< b/d. E
(e) Using the complex numbers C, all the roots can be found (at least
in theory) for any polynomial equation p(z) = 0. T

(f) The theorem mentioned in (e), known as the Fundamental Theo-
rem of Algebra, was first proved by N.H. Abel.

k

(g) The mathematician al-Khwérizmi, in the 9th century, would have
been able to solve the equation z?+ 6z — 11 = 0.

|4

(h) The quartic equation was first solved by Ferrari.

(i) Name a famous mathematician of the 1700’s.

(i) Name a famous mathematician of the 1900’s.




3. Using the binomial theorem, expand (1 — z)°. [25]

(1=%"= 1+5(%)+10 (=% +10(-x>« 5(-1* « (-X) >
_T1-sx +10x*—10%>+ 5+ ‘Xf]

4. Solve the equation z2—4z+5=0, and simplify the answer as far

as possible. [25]
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